
S-1 

Supporting Information for 

One-Pot Synthesis of Amine-Substituted Aryl Sulfides and Benzo[b]thiophene 

Derivatives 

Zhongyu Duan, Sadananda Ranjit, and Xiaogang Liu* 

Department of Chemistry, National University of Singapore, 3 Science Drive 3, Singapore 117543 

 

 

 

Table of Contents: 

 
Table S1. The C-S Cross-Coupling of 1-Chloro-4-Nitrobenzene with 
Different Concentrations of 1-Octanethiol 

 S2 

   

Table S2. Reduction of Nitrobenzene with 1-Octanethiol  S3 
 
Figure S1. GC/MS Analysis of Nitrobenzene Reduction with 
1-Octanethiol  
 

 
  S4 

Recycling Experiments of the PEG-600 for C-S Cross-Coupling    S5 

   

Additional Experimental Details and Spectroscopic Data    S6 

 

References    S16 

   
1H and 13C NMR Spectra for all compounds    S17 

 

 

 



S-2 

Table S1. The C-S Cross-Coupling of 1-Chloro-4-Nitrobenzene with Different 

Concentrations of 1-Octanethiol 

 

 

 
  a GC yield. 

 

 



S-3 

Table S2. Reduction of Nitrobenzene with 1-Octanethiol  

 

entry 1-Octanethiol  KOH  yield a 

1 1.5 equiv 3.0 equiv 71 

2 1.5 equiv --- < 2 

3 0.5 equiv 3.0 equiv 36 

4 0.25 equiv 3.0 equiv 19 

5 0.025 equiv 3.0 equiv 13 

6 --- 3.0 equiv 12 

      a GC yield. 

 



S-4 

 

 

 

 

 

 

 

 

Figure S1. a) GC Analysis of Nitrobenzene Reduction with 1-Octanethiol in the 

presence of KOH and PEG-600. b) and c) Corresponding mass spectra of the peaks 

shown in GC spectrum at 11.88 and 12.90 minute, confirming the formation of 

azobenzene and azoxylbenzene, respectively.   



S-5 

Recycling Experiments of the PEG-600 for C-S Cross-Coupling 

To a glass vial (20 mL) charged with PEG-600 (3 mL) was added 

1-chloro-4-nitrobenzene (0.5 mmol), 1-octanethiol (0.75 mmol), and KOH (3 equiv).  

The resulting mixture was stirred at 100 °C for 2 h, at which time the product was 

extracted with diethyl ether (3×10 mL).  The organic layers were combined, washed 

with water, dried over NaSO4, and filtered.  The solvent was removed in vacuo to 

afford the coupling product of 4-(octylthio)benzenamine.  The separated mixture of 

KOH and PEG-600 was first treated in vacuo to remove unextracted diethyl ether and 

subsequently reused for recycling experiments with the same stoichiometric amounts 

of substrates and base. 

 

runs 1 2 3 

GC yield (%) 98 92 82 

 



S-6 

  General Methods.  Unless otherwise stated, all reactions were carried out 

without taking precautions to exclude air and moisture. All solvents were used as 

received. All the chemicals were purchased from commercial sources and used as 

received unless stated otherwise.  Reactions were conducted in 20 mL of glass vials 

equipped with conventional screw caps.  Column chromatography was carried out on 

silica gel (230-400 mesh).  The yields of the coupling products listed in Tables 2 and 

3 refer to isolated yields (average of two runs). 

Physical Measurements.  1H NMR and 13C NMR spectra were recorded on a 

Bruker Avance 500 and 125 MHz FT-NMR spectrometers and referenced to solvent 

peaks.  The coupling reaction of 1-chloro-4-nitrobenzene with 1-octanethiol shown 

in Table 1 was determined by using Hewlett- Packard Series 6890 GC (Santa Clara, 

CA, USA) coupled to a Hewlett Packard 5973 MS detector.  High-resolution mass 

spectra were obtained using a Finnigan MAT95XL-T mass spectrometer.  

A General procedure for the one-pot C-S cross-coupling reaction.  To a 

glass vial charged with PEG-600 (3 mL) was added nitroaryl halide (0.5 mmol), thiol 

(0.75 mmol), and KOH (84 mg, 3 equiv).  The resulting mixture was stirred at 100 

°C and monitored by TLC.  Upon completion of the reaction (approx. 2 h), the 

mixture was cooled to room temperature, poured into water (10 mL), and extracted 

several times with ethyl acetate (15×3 mL).  The combined organic layers were 

washed with water, dried over Na2SO4, and filtered.  The solvent was removed in 

vacuo and the residue was purified by column chromatography (silica gel, eluent: 

hexane/ethyl acetate) to afford the aryl sulfide product. 



S-7 

S (CH2)7CH3

H2N

 

4-(octylthio)benzenamine (3a). Obtained as a yellow oil in 92% yield.  1H NMR 

(500 MHz, CDCl3) δ 7.26-7.22(td, 2 H), 6.62-6.60 (d, 2 H), 3.58 (br s, 2 H), 

2.78-2.75(t, 2H), 1.59-1.53 (quint, 2 H), 1.40-1.37(m, 2H), 1.26(m, 8H), 0.90-0.87(t, 

3H) ppm; 13C NMR (125 MHz, CDCl3) δ 145.6, 133.5, 123.7, 115.5, 36.3, 31.7, 29.3, 

29.1, 29.0, 28.6, 22.5, 14.0 ppm; HR EIMS 237.1557 m/z (calcd. for C14H23NS: 

237.1551). 

 

S (CH2)7CH3

O2N

  

1-Nitro-4-(octylthio)benzene (3a′).1  Obtained as a yellow oil in 89% yield.  1H 

NMR (300 MHz, CDCl3) δ 8.13-8.10(d, 2 H), 7.33-7.30 (d, 2 H), 3.05-3.00 (t, 2 H), 

1.78-1.68 (quint, 2 H), 1.50-1.45 (m, 2H), 1.30 (m, 8H), 0.91-0.87 (t, 3H) ppm; 13C 

NMR (75 MHz, CDCl3) δ 148.2, 144.7, 125.8, 123.8, 31.8, 31.7, 29.1, 29.0, 28.8, 

28.4, 22.5, 14.0 ppm; HR EIMS 267.1296 m/z (calcd. for C14H21O2NS: 267.1293). 

 

S (CH2)11CH3

H2N

 

4-(dodecylthio)benzenamine (3b). Obtained as a yellow solid in 95% yield.  1H 

NMR (500 MHz, CDCl3) δ 7.24-7.22 (td, 2 H), 6.63-6.61 (d, 2 H), 3.64 (br s, 2 H), 

2.77-2.74 (t, 2H), 1.59-1.53 (quint, 2 H), 1.38-1.35 (m, 2H), 1.25 (m, 16H), 0.90-0.87 

(t, 3H) ppm; 13C NMR (125 MHz, CDCl3) δ 145.6, 133.7, 124.0, 115.6, 36.4, 31.9, 



S-8 

29.7, 29.65, 29.61, 29.5, 29.4, 29.3, 29.2, 28.7, 22.7, 14.1 ppm; HR EIMS  293.2176 

m/z (calcd. for C18H31NS: 293.2177). 

 

S (CH2)3CH3

H2N

 

4-(butylthio)benzenamine (3c).2 Obtained as a yellow oil in 96% yield.  1H NMR 

(500 MHz, CDCl3) δ 7.24-7.22 (td, 2 H), 6.63-6.61 (td, 2 H), 3.50 (br s, 2 H), 

2.78-2.75(t, 2H), 1.56-1.52 (quint, 2 H), 1.43-1.38 (m, 2H), 0.90-0.88 (t, 3H) ppm; 

13C NMR (125 MHz, CDCl3) δ 145.6, 133.6, 123.9, 115.5, 36.0, 31.5, 21.8, 13.6 ppm; 

HR EIMS 181.0930 m/z (calcd. for C10H15NS: 181.0925). 

 

S

H2N

 

4-(cyclohexylthio)benzenamine (3d). Obtained as a yellow oil in 83% yield.  1H 

NMR (500 MHz, CDCl3) δ 7.29-7.27(d, 2 H), 6.64-6.62 (d, 2 H), 3.76 (br s, 2 H), 

2.88-2.83 (m, 1H), 1.96-1.93 (m, 2 H), 1.78-1.75(m, 2H), 1.62-1.59 (m, 1H), 

1.36-1.20(m, 5H) ppm; 13C NMR (125 MHz, CDCl3) δ 146.3, 136.1, 121.9, 115.3, 

48.1, 33.4, 26.2, 25.8 ppm; HR EIMS 207.1092 m/z (calcd. for C12H17NS: 207.1082). 

 

S

H2N

 

4-(phenylthio)benzenamine (3e).3 Obtained as a light-yellow solid in 90% yield.  1H 

NMR (500 MHz, CDCl3) δ 7.33-7.29(td, 2H), 7.23-7.20(t, 2H), 7.14-7.09 (m, 3H), 

6.69-6.67 (td, 2H), 3.80(br s, 2 H) ppm; 13C NMR (125 MHz, CDCl3) δ 147.09, 139.7, 



S-9 

136.1, 128.8, 127.3, 125.2, 120.5, 115.8 ppm; HR EIMS 201.0613 m/z (calcd. for 

C12H11NS: 201.0612). 

 

S

H2N NO2

 

4-[(4-nitrophenyl)thio]benzenamine (3f). Obtained as yellow solid in 50% yield.  

1H NMR (500 MHz, CDCl3) δ 8.04-8.02(td, 2H), 7.35-7.32(td, 2H), 7.10-7.08 (td, 2 

H), 6.75-6.73 (td, 2 H), 3.96 (s, 2 H) ppm; 13C NMR (125 MHz, CDCl3) δ 151.0, 

148.4, 144.8, 137.2, 125.3, 123.9, 116.5, 116.1 ppm; HR EIMS  246.0470 m/z (calcd. 

for C12H10NO2S: 246.0463). 

 

S

H2N

 

4-[(4-methylphenyl)thio]benzenamine (3g). Obtained as a yellow solid in 87% yield.  

1H NMR (500 MHz, CDCl3) δ 7.30-7.28 (td, 2H), 7.11-7.09 (d, 2H), 7.07-7.04 (d, 

2H), 6.67-6.64 (td, 2H), 3.77(br s, 2 H), 2.30 (s, 3H) ppm; 13C NMR (125 MHz, 

CDCl3) δ 146.7, 135.6, 135.5, 135.4, 129.7, 128.3, 121.7, 115.9, 21.0 ppm; HR EIMS 

215.0777 m/z (calcd. for C13H13NS: 215.0769). 

 

S

H2N O

 

4-[(4-methoxyphenyl)thio]benzenamine (3h). Obtained as a yellow solid in 84% 

yield.  1H NMR (500 MHz, CDCl3) δ 7.25-7.22(m, 4H), 6.83-6.81 (td, 2H), 6.63-6.61 

(td, 2H), 3.77 (s, 5H, NH2 and CH3) ppm; 13C NMR (125 MHz, CDCl3) δ158.4, 146.2, 



S-10 

133.8, 131.3, 128.7, 123.3, 115.7, 114.5, 55.2 ppm; HR EIMS 231.0719 m/z (calcd. 

for C13H13ONS: 231.0718). 

 

S

H2N H2N

 

2-[(4-aminophenyl)thio]benzenamine (3i). Obtained as a yellow solid in 85% yield.  

1H NMR (500 MHz, CDCl3) δ 7.37-7.35 (dd, 1H), 7.16-7.13 (dt, 1H), 7.08-7.05(td, 

2H), 6.72-6.69 (m, 2H), 6.60-6.57 (td, 2 H), 3.76 (br s, 4H) ppm; 13C NMR (125 MHz, 

CDCl3) δ 147.6, 145.4, 135.5, 130.8, 129.9, 123.5, 118.7, 118.0, 116.0, 115.3 ppm; 

HR EIMS 216.0729 m/z (calcd. for C12H12N2S: 216.0721). 

 

S

H2N NH2

 

4, 4’-thiobisbenzenamine (3j). Obtained as a yellow solid in 87% yield.  1H NMR 

(500 MHz, CDCl3) δ 7.26-7.15(m, 4 H), 6.61-6.57(t, 4H), 3.78(br s, 4 H) ppm; 13C 

NMR (125 MHz, CDCl3) δ 147.1, 133.9, 125.7, 115.4 ppm; HR EIMS 216.0728 m/z 

(calcd. for C12H12N2S: 216.0721). 

 

S (CH2)7CH3

NH2

 

2-n-Octylsulfanylaniline (3k).4  Obtained as a yellow liquid in 82% yield. 1H NMR 

(300 MHz, CDCl3) δ 7.39-7.36 (d, 1H), 7.14-7.08 (t, 1H), 6.74-6.67 (m, 2H), 4.34 (br 

s, 2H), 2.76-2.72 (t, 2H), 1.62-1.52 (quint, 2H), 1.40-1.36 (m, 2H), 1.26 (m, 8H), 

0.90-0.86 (t, 3H) ppm; 13C NMR (75 MHz, CDCl3) δ 148.0, 135.5, 129.3, 118.4, 



S-11 

118.3, 114.7, 34.8, 31.7, 29.6, 29.1, 29.0, 28.6, 22.6, 14.0 ppm; HR EIMS: 237.1551 

m/z (calcd. for C14H23NS: 237.1551). 

 

S S

H2N

H3C(H2C)7 (CH2)7CH3
 

2,4-dioctylthio-benzenamine (3l). Obtained as a brown oil in 68% yield.  1H NMR 

(500 MHz, CDCl3) δ 7.45(s, 1 H), 7.18-7.16(d, 1 H), 6.65-6.64(d, 1H), 4.36(br s, 2 H), 

2.77-2.72(m, 4H), 1.57-1.54 (quint, 4 H), 1.37(s, 4H), 1.29 (m, 16H), 0.89-0.86 (t, 6H) 

ppm; 13C NMR (125 MHz, CDCl3) δ 147.3, 139.3, 133.8, 123.6, 119.0, 115.2, 36.5, 

34.9, 31.8, 29.6, 29.4, 29.2, 29.18, 29.16, 28.7, 22.7, 14.1 ppm; HR EIMS 381.2528 

m/z (calcd. for C22H39NS2: 381.2524). 

 

H2N

S

Cl

(CH2)7CH3
 

3-chloro-4-octylthio-benzenamine (3m). Obtained as a yellow oil in 80% yield.  1H 

NMR (500 MHz, CDCl3) δ 7.25-7.23(d, 1 H), 6.75-6.74 (d, 1 H), 6.53-6.50 (dd, 1H), 

3.77 (br s, 2 H), 2.81-2.78(t, 2H), 1.59-1.54 (quint, 2 H), 1.42-1.36 (quint, 2H), 1.25 

(m, 8H), 0.89-0.86 (t, 3H) ppm; 13C NMR (125 MHz, CDCl3) δ 146.7, 137.7, 134.7, 

122.3, 116.1, 113.9, 34.9, 31.8, 29.1, 29.0, 28.7, 22.6, 14.1 ppm; HR EIMS: 271.1162 

m/z (calcd. for C14H22NClS: 271.1161). 

 

N S (CH2)7CH3

NH2

 



S-12 

2-octylthio-3-pyridinamine (3n). Obtained as a brown oil in 75% yield.  1H NMR 

(500 MHz, CDCl3) δ 7.96-7.94(m, 1 H), 6.89-6.84 (m, 2 H), 3.86 (br s, 2 H), 

3.23-3.19 (t, 2H), 1.72-1.66 (quint, 2 H), 1.46-1.40 (quint, 2H), 1.26 (m, 8H), 

0.89-0.86(t, 3H) ppm; 13C NMR (125 MHz, CDCl3) δ143.7, 140.6, 139.7, 120.4, 

120.1, 31.8, 30.8, 29.7, 29.2, 29.1, 28.9, 22.7, 14.1 ppm; HR EIMS: 238.1512 m/z 

(calcd. for C13H22N2S: 238.1504). 

 

N

H2N

S (CH2)7CH3  

6-octylthio-3-pyridinamine (3o). Obtained as a brown oil in 61% yield.  1H NMR 

(500 MHz, CDCl3) δ 7.99(s, 1 H), 7.04-7.02 (d, 1H), 6.90-6.87(d, 1H), 3.94 (br s, 2 

H), 3.08-3.04(t, 2H), 1.68-1.62 (quint, 2 H), 1.44-1.38(quint, 2H), 1.25(m, 8H), 

0.89-0.86(t, 3H) ppm; 13C NMR (125 MHz, CDCl3) δ147.3, 139.7, 137.1, 123.7, 

123.3, 31.8, 31.7, 29.6, 29.2, 29.0, 28.9, 22.6, 14.1 ppm; HR EIMS: 238.1497 m/z 

(calcd. for C13H22N2S: 238.1504). 

 

S  

2-phenylbenzo[b]thiophene (3p).5 Obtained as a white solid in 81% yield. 1H NMR 

(500 MHz, CDCl3) δ 7.85-7.83 (d, 1H), 7.79-7.77 (d, 1H), 7.74-7.72 (td, 2H), 7.56 (s, 

1H), 7.45-7.42(t, 2H), 7.38-7.30(m, 3H); 13C NMR (125 MHz, CDCl3) δ 144.3, 140.7, 

139.5, 134.3, 129.0, 128.3, 126.5, 124.5, 124.3, 123.6, 122.3, 119.5; HR EIMS: 

210.0499 m/z (calcd. for C14H10S: 210.0503). 



S-13 

S O  

2-(2-furanyl)benzo[b]thiophene(3q).  Obtained as a white solid in 86% yield. 1H 

NMR (500 MHz, CDCl3) δ 7.81-7.79 (d, 1H), 7.76-7.74 (d, 1H), 7.48 (s, 2H), 

7.37-7.29(m, 2H), 6.65-6.64 (d, 1H), 6.50-6.49 (m, 1H); 13C NMR (125 MHz, CDCl3) 

δ 149.3, 142.5, 140.2, 138.9, 133.3, 124.6, 124.4, 123.6, 122.2, 118.6, 111.9, 107.0; 

HR EIMS: 200.0305 m/z (calcd. for C12H8OS: 200.0296). 

 
 

S  

2-(4 -tert-butylphenyl)benzo[b]thiophene (3r).  Obtained as a white solid in 87% 

yield. 1H NMR (500 MHz, CDCl3) δ 7.83-7.81 (d, 1H), 7.77-7.75 (d, 1H), 7.67-7.65 

(d, 2H), 7.51 (s, 1H), 7.46-7.44(d, 2H), 7.35-7.30(m, 2H), 1.37 (s, 9H); 13C NMR 

(125 MHz, CDCl3) δ 151.5, 144.3, 140.8, 139.4, 131.5, 126.2, 125.9, 124.4, 124.1, 

123.4, 122.2, 118.9, 34.7, 31.3; HR EIMS: 266.1131 m/z (calcd. for C18H18S: 

266.1129). 

 

S
Cl

 

2-(4-chlorophenyl)benzo[b]thiophene(3s).5 Obtained as a white solid in 75% yield. 

1H NMR (500 MHz, CDCl3) δ 7.84-7.82 (d, 1H), 7.78-7.76 (d, 1H), 7.65-7.63 (d, 2H), 

7.52 (s, 1H), 7.41-7.32(m, 4H); 13C NMR (125 MHz, CDCl3) δ 142.8, 140.6, 139.5, 

134.1, 132.8, 129.1, 127.6, 124.7, 124.6, 123.6, 122.3, 119.9; HR EIMS: 244.0122 

m/z (calcd. for C14H9ClS: 244.0113). 



S-14 

S
F

 

2-(4-fluorophenyl)benzo[b]thiophene (3t).5  Obtained as a white solid in 74% yield. 

1H NMR (500 MHz, CDCl3) δ 7.83-7.81 (d, 1H), 7.78-7.76 (d, 1H), 7.70-7.66 (m, 

2H), 7.47 (s, 1H), 7.36-7.31(m, 2H), 7.14-7.11(t, 2H); 13C NMR (125 MHz, CDCl3) δ 

143.1, 140.7, 139.4, 130.6, 128.1, 124.6, 124.4, 123.5, 122.2, 119.4, 116.0, 115.9; HR 

EIMS: 228.0410 m/z (calcd. for C14H9FS: 228.0409). 

 

S  

2-(4-methylphenyl)benzo[b]thiophene(3u).5 Obtained as a white solid in 85% yield. 

1H NMR (500 MHz, CDCl3) δ 7.83-7.81 (d, 1H), 7.77-7.75 (d, 1H), 7.63-7.60 (d, 2H), 

7.51 (s, 1H), 7.36-7.28 (m, 2H), 7.25-7.23 (d, 2H), 2.40 (s, 3H); 13C NMR (125 MHz, 

CDCl3) δ 144.4, 140.8, 139.3, 138.3, 131.5, 129.6, 126.4, 124.4, 124.1, 123.4, 122.2, 

118.8, 21.2; HR EIMS: 224.0655 m/z (calcd. for C15H12S: 224.0660). 

  

S
O

 

2-(4-Methoxyphenyl)benzo[b]thiophene (3v).5, 6 Obtained as a white solid in 82% 

yield. 1H NMR (500 MHz, CDCl3) δ 7.82-7.80 (d, 1H), 7.75-7.73 (d, 1H), 7.67-7.64 

(td, 2H), 7.43 (s, 1H), 7.35-7.32(t, 1H), 7.30-7.27(t, 1H), 6.98-6.95 (td, 2H); 3.86(s, 

3H); 13C NMR (125 MHz, CDCl3) δ 159.8, 144.2, 140.9, 139.2, 127.8, 127.1, 124.5, 

124.0, 123.3, 122.2, 118.2, 114.4, 55.4; HR EIMS: 240.0610 m/z (calcd. for C15H12OS: 

240.0609). 



S-15 

 

N S  

2-phenyl-thieno[2,3-b]pyridine (3w).  Obtained as a white solid in 70% yield. 1H 

NMR (500 MHz, CDCl3) δ 8.53-8.51 (dd, 1H), 8.02-8.00 (dd, 1H), 7.74-7.72 (d, 2H), 

7.46-7.43(m, 3H), 7.40-7.37(m, 1H), 7.30-7.27(m, 1H); 13C NMR (125 MHz, CDCl3) 

δ 161.6, 146.3, 144.6, 134.3, 133.9, 130.7, 129.1, 128.8, 126.6, 119.8, 116.7; HR 

EIMS: 211.0458 m/z (calcd. for C13H9NS: 211.0456). 

 

S

N

 

2-Phenylbenzothiazole (3x). Obtained as a white solid in 46% yield. 1H NMR (300 

MHz, CDCl3) δ 8.12-8.07 (3H, m, aromatic), 7.93-7.90 (1H, d, aromatic), 7.52-7.47 

(4H, m, aromatic), 7.42-7.39 (1H, t, aromatic); 13C NMR (75 MHz, CDCl3) δ 168.1, 

154.1, 135.1, 133.6, 131.0, 129.0, 127.6, 126.3, 125.2, 123.2, 121.6; HR EIMS: 

211.0453 m/z (calcd. for C13H9NS: 211.0456). 

 

S

N

 

2-(4-Methylphenyl)benzothiazole (3y).7 Obtained as a white solid in 40% yield. 1H 

NMR (500 MHz, CDCl3) δ 8.08-8.06 (1H, d, aromatic), 8.00-7.98 (2H, d, aromatic), 

7.89-7.87 (1H, d, aromatic), 7.50-7.47 (1H, t, aromatic), 7.39-7.35(1H, t, aromatic), 

7.30-7.28(2H, d, aromatic), 2.42(3H, s, CH3); 13C NMR (125 MHz, CDCl3) δ 168.3, 



S-16 

154.2, 141.4, 135.0, 131.0, 129.7, 127.5, 126.3, 125.0, 123.1, 121.6, 21.5; HR EIMS: 

225.0612 m/z (calcd. for C14H11NS: 225.0612). 

 

References: 

1. Pescatori, L.; Arduini, A.; Pochini, A.; Ugozzoli, F.; Secchi, A. Eur. J. Org. Chem. 

2008, 109–120. 

2. Taniguchi, N. J. Org. Chem. 2004, 69, 6904–6906. 

3. Wong, Y. C.; Jayanth, T. T.; Cheng, C. H. Org. Lett. 2006, 8, 5613–5616. 

4. Kandaz, M.; Coruhlu, S. Z. Transition Met. Chem. 2002, 27, 877–883. 

5. Beatrix Bíró, A.; Kotschy, A. Eur. J. Org. Chem. 2007, 1364–1368. 

6. Roberts, C. F.; Hartley, R. C. J. Org. Chem., 2004, 69, 6145–6148. 

7. Chakraborti, A. K.; Rudrawar, S.; Jadhav, K. B; Kaur, G.; Chankeshwara, S. V. 

Green Chem. 2007, 9, 1335–1340. 

 

 
 
 
 



S-17 

2
.0

0
0
0

2
.0

3
4
5

1
.8

2
4
1

2
.0

2
7
1

2
.0

5
2
3

1
.9

8
7
4

8
.0

0
6
6

3
.0

7
5
5

In
te

g
ra

l

7
.2

6
0
6

7
.2

3
5
4

7
.2

1
9
0

6
.6

1
3
9

6
.5

9
7
5

3
.6

1
0
8

3
.5

8
3
1

2
.7

7
6
2

2
.7

6
1
1

2
.7

4
7
2

1
.5

8
9
9

1
.5

7
6
0

1
.5

6
0
9

1
.5

4
5
8

1
.5

3
0
6

1
.4

0
0
8

1
.3

8
6
9

1
.3

7
1
8

1
.3

5
7
9

1
.3

4
4
0

1
.2

5
8
3

0
.8

9
5
2

0
.8

8
1
4

0
.8

6
7
5

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.0

2
.0

0
0
0

7
.2

6
0
6

7
.2

3
5
4

7
.2

1
9
0

(ppm)

7.20

2
.0

3
4
5

In
te

g
ra

l

6
.6

1
3
9

6
.5

9
7
5

(ppm)

6.6

 

3a 



S-18 

1
4
5
.6

0
7
3

1
3
3
.5

3
9
4

1
2
3
.7

0
1
5

1
1
5
.4

5
2
2

7
7
.2

6
6
3

7
7
.0

1
1
3

7
6
.7

5
6
2

3
6
.2

8
9
5

3
1
.6

9
8
4

2
9
.3

0
0
9

2
9
.0

8
2
2

2
9
.0

6
0
4

2
8
.6

0
1
3

2
2
.5

3
8
2

1
3
.9

9
7
4

(ppm)

0102030405060708090100110120130140150

2
9
.3

0
0
9

2
9
.0

8
2
2

2
9
.0

6
0
4

2
8
.6

0
1
3

(ppm)

28.529.029.5

 

3a 



S-19 

2
.0

0
5

5

2
.0

0
3

7

2
.0

0
0

0

1
.9

6
2

3

1
.9

8
6

5

8
.0

2
3

8

2
.9

8
5

0

In
te

g
ra

l

8
.1

2
6

9
8

.1
2

0
8

8
.1

0
3

8
8

.0
9

7
3

7
.3

2
7

0
7

.3
2

0
4

7
.3

0
3

4
7

.2
9

6
9

3
.0

4
6

6
3

.0
2

2
5

2
.9

9
7

9

1
.7

7
7

8
1

.7
5

4
8

1
.7

2
9

6
1

.7
0

4
9

1
.6

7
9

7
1

.4
9

5
1

1
.4

7
2

6
1

.4
4

7
4

1
.3

0
1

2
0

.9
1

4
4

0
.8

9
3

0
0

.8
7

0
0

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

 

3a′ 



S-20 

1
4

8
.1

7
2

4

1
4

4
.6

8
8

6

1
2

5
.8

2
9

7
1

2
3

.7
7

1
4

7
7

.4
7

1
5

7
7

.0
4

9
7

7
6

.6
2

0
6

3
1

.8
2

6
1

3
1

.6
7

3
4

2
9

.0
4

0
6

2
9

.0
0

4
2

2
8

.7
9

3
3

2
8

.3
9

3
3

2
2

.5
4

5
8

1
3

.9
8

5
4

(ppm)

0102030405060708090100110120130140150

 

3a′ 



S-21 

2
.0

0
0

0

2
.0

2
3

9

1
.7

5
8

2

2
.0

0
9

2

2
.0

5
3

4

2
.0

1
0

5

1
6

.0
6

2

3
.0

6
8

1

7
.2

6
0

6
7

.2
3

5
4

7
.2

3
1

6
7

.2
2

2
8

7
.2

1
9

0

6
.6

2
5

2
6

.6
0

7
6

3
.6

5
3

7
3

.6
3

9
8

2
.7

7
3

7
2

.7
5

9
8

2
.7

4
4

7

1
.5

8
6

1
1

.5
7

2
2

1
.5

5
7

1
1

.5
4

2
0

1
.5

2
6

8
1

.3
8

1
9

1
.3

6
8

0
1

.3
5

2
9

1
.3

1
3

8
1

.2
9

9
9

1
.2

8
6

0
1

.2
4

9
5

0
.8

8
2

6

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

3b 



S-22 

1
4

5
.6

4
1

7

1
3

3
.6

7
5

8

1
2

3
.9

5
4

5

1
1

5
.5

9
5

8

7
7

.3
0

0
7

7
7

.0
4

5
6

7
6

.7
9

0
6

3
6

.4
1

1
3

3
1

.9
3

6
8

2
9

.6
6

3
1

2
9

.6
4

8
6

2
9

.6
1

2
1

2
9

.5
4

6
5

2
9

.4
2

2
7

2
9

.3
6

4
4

2
9

.2
1

8
6

2
8

.7
2

3
1

2
2

.7
0

3
7

1
4

.1
3

3
8

(ppm)

0102030405060708090100110120130140150

2
9

.6
6

3
1

2
9

.6
4

8
6

2
9

.6
1

2
1

2
9

.5
4

6
5

2
9

.4
2

2
7

2
9

.3
6

4
4

2
9

.2
1

8
6

2
8

.7
2

3
1

(ppm)

28.829.029.229.429.6

 

3b 



S-23 

1
.9

7
8
0

2
.0

0
0
0

1
.8

7
0
6

2
.0

7
7
9

2
.0

9
1
4

2
.0

1
3
5

3
.0

1
5
8

In
te

g
ra

l

7
.2

6
0
6

7
.2

3
9
2

7
.2

3
4
2

7
.2

2
5
3

7
.2

2
1
5

6
.6

2
5
2

6
.6

2
1
4

6
.6

1
2
6

6
.6

0
7
6

3
.5

0
2
4

2
.7

8
3
8

2
.7

6
8
7

2
.7

5
3
5

1
.5

6
4
7

1
.5

4
9
5

1
.5

4
4
5

1
.5

3
4
4

1
.5

3
0
6

1
.5

1
9
3

1
.4

2
6
0

1
.4

1
0
8

1
.3

9
5
7

1
.3

8
1
9

0
.9

0
4
0

0
.8

7
5
0

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.0

1
.9

7
8
0

In
te

g
ra

l
7
.2

6
0
6

7
.2

3
9
2

7
.2

3
4
2

7
.2

2
5
3

7
.2

2
1
5

(ppm)

7.27.3

6
.6

2
5
2

6
.6

2
1
4

6
.6

1
2
6

6
.6

0
7
6

(ppm)

6.6

2
.7

8
3
8

2
.7

6
8
7

2
.7

5
3
5

(ppm)

2.7

1
.5

4
4
5

1
.5

3
4
4

1
.5

3
0
6

1
.5

1
9
3

1
.4

2
6
0

1
.4

1
0
8

1
.3

9
5
7

1
.3

8
1
9

(ppm)

1.41.6

0
.9

0
4
0

0
.8

7
5
0

(ppm)

0.90

3c 



S-24 

1
4
5
.6

2
8
7

1
3
3
.6

4
8
3

1
2
3
.8

5
4
0

1
1
5
.5

3
9
1

7
7
.2

5
8
6

7
7
.0

0
3
5

7
6
.7

4
8
5

3
6
.0

3
3
9

3
1
.4

7
2
0

2
1
.7

7
9
8

1
3
.6

3
2
5

(ppm)

0102030405060708090100110120130140150

 

3c 



S-25 

2
.0

0
8

3

2
.0

0
0

0

1
.9

3
1

3

1
.0

4
4

5

2
.0

5
3

0

1
.9

8
4

9

1
.0

5
7

4

4
.9

9
1

1

In
te

g
ra

l

7
.2

9
4

9
7

.2
9

1
2

7
.2

8
2

3
7

.2
7

8
5

6
.7

1
0

0
6

.6
4

3
1

6
.6

3
8

1
6

.6
2

9
3

6
.6

2
5

5

3
.7

5
6

1

2
.8

7
6

1
2

.8
6

8
5

2
.8

6
2

2
2

.8
5

4
6

2
.8

4
8

3
2

.8
3

4
5

2
.8

2
6

9
1

.9
5

5
7

1
.9

4
5

7
1

.9
3

5
6

1
.7

8
0

5
1

.7
7

4
2

1
.7

6
2

9
1

.7
5

7
8

1
.6

2
0

4
1

.6
0

0
2

1
.5

9
1

4
1

.3
5

9
4

1
.3

5
3

1
1

.3
3

5
5

1
.3

3
1

7
1

.3
1

1
5

1
.2

8
7

6
1

.2
6

3
6

1
.2

4
4

7
1

.2
4

0
9

1
.2

3
4

6
1

.2
2

7
0

1
.2

2
0

7
1

.2
0

9
4

1
.2

0
3

1

(ppm)

1.01.52.02.53.03.54.04.55.05.56.06.57.07.5

 

3d 



S-26 

1
4
6
.2

6
8
4

1
3
6
.0

7
3
4

1
2
1
.9

0
6
7

1
1
5
.3

1
8
9

7
7
.3

0
8
0

7
7
.0

5
2
9

7
6
.7

9
7
9

4
8
.1

2
9
3

3
3
.3

9
4
3

2
6
.1

6
5
2

2
5
.8

0
8
1

(ppm)

0102030405060708090100110120130140150

2
6
.1

6
5
2

2
5
.8

0
8
1

(ppm)

252627

 

3d 



S-27 

2
.0

0
0

0

2
.0

3
2

7

3
.0

1
2

3

2
.0

3
7

1

2
.0

1
3

5g

7
.3

2
7

4
7

.3
2

2
4

7
.3

1
3

6
7

.3
0

9
8

7
.3

0
4

7
7

.2
6

0
6

7
.2

3
0

4
7

.2
2

6
6

7
.2

1
4

0
7

.2
0

2
6

7
.1

9
8

8
7

.1
4

0
8

7
.1

2
5

7
7

.1
1

9
4

7
.1

1
6

9
7

.1
0

3
0

7
.0

8
7

9
6

.6
9

3
3

6
.6

8
8

2
6

.6
8

4
5

6
.6

7
5

6
6

.6
7

0
6

6
.6

6
5

6

3
.8

0
2

4

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.3

2
7

4
7

.3
2

2
4

7
.3

1
3

6
7

.3
0

9
8

7
.3

0
4

7

7
.2

6
0

6
7

.2
3

0
4

7
.2

2
6

6
7

.2
1

4
0

7
.2

0
2

6
7

.1
9

8
8

7
.1

4
0

8
7

.1
2

5
7

7
.1

1
9

4
7

.1
1

6
9

7
.1

0
3

0
7

.0
8

7
9

(ppm)

7.107.207.30

6
.6

9
3

3
6

.6
8

8
2

6
.6

8
4

5
6

.6
7

5
6

6
.6

7
0

6
6

.6
6

5
6

(ppm)

3e 



S-28 

1
4

7
.0

1
3

2

1
3

9
.6

6
0

3

1
3

6
.0

8
2

2

1
2

8
.7

7
2

9
1

2
7

.2
7

1
7

1
2

5
.2

1
6

7

1
2

0
.4

6
5

3

1
1

5
.8

3
7

8

7
7

.2
5

8
5

7
7

.0
0

3
4

7
6

.7
4

8
4

(ppm)

0102030405060708090100110120130140150

 

3e 



S-29 

2
.0

0
0

0

1
.9

5
8

4

1
.9

8
6

3

1
.9

9
1

4

1
.9

8
9

8

In
te

g
ra

l

8
.0

3
3

4
8

.0
2

9
7

8
.0

1
9

6
8

.0
1

5
8

7
.3

4
1

3
7

.3
3

7
5

7
.3

2
8

7
7

.3
2

3
7

7
.2

6
0

6

7
.0

9
5

5
7

.0
9

1
7

7
.0

8
1

6
7

.0
7

7
8

6
.7

4
8

8
6

.7
4

5
0

6
.7

3
6

2
6

.7
3

2
4

3
.9

6
0

0

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

8
.0

3
3

4
8

.0
2

9
7

8
.0

1
9

6
8

.0
1

5
8

7
.3

4
1

3
7

.3
3

7
5

7
.3

2
8

7
7

.3
2

3
7

7
.2

6
0

6

7
.0

9
5

5
7

.0
9

1
7

7
.0

8
1

6
7

.0
7

7
8

6
.7

4
8

8
6

.7
4

5
0

6
.7

3
6

2
6

.7
3

2
4

(ppm)

6.66.76.86.97.07.17.27.37.47.57.67.77.87.98.08.1

3f 



S-30 

1
5

1
.0

1
9

8

1
4

8
.3

5
9

9

1
4

4
.8

4
7

3

1
3

7
.2

3
2

0

1
2

5
.2

5
8

9
1

2
3

.8
8

8
9

1
1

6
.4

9
2

2
1

1
6

.1
4

9
7

7
7

.2
8

6
1

7
7

.0
3

1
1

7
6

.7
7

6
0

(ppm)

0102030405060708090100110120130140150

1
1

6
.4

9
2

2
1

1
6

.1
4

9
7

(ppm)

116118

 

3f 



S-31 

2
.0

0
0
0

4
.0

3
3
5

2
.0

1
3
8

1
.8

7
2
3

3
.0

1
0
5

In
te

g
ra

l

7
.3

0
7
2

7
.3

0
2
2

7
.2

9
7
2

7
.2

8
8
3

7
.2

8
4
6

7
.2

7
9
5

7
.2

6
0
6

7
.1

1
4
4

7
.0

9
8
0

7
.0

6
5
2

7
.0

4
8
8

6
.6

6
5
5

6
.6

6
1
8

6
.6

4
9
1

3
.7

7
0
9

2
.3

0
4
7

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.2

8
4
6

7
.2

7
9
5

7
.2

6
0
6

7
.1

1
4
4

7
.0

9
8
0

7
.0

6
5
2

7
.0

4
8
8

(ppm)

7.2

6
.6

6
5
5

6
.6

6
1
8

6
.6

4
9
1

(ppm)

6.65

 

3g 



S-32 

1
4
6
.7

3
4

1
3
5
.5

9
2

1
3
5
.4

9
7

1
3
5
.3

6
6

1
2
9
.6

8
2

1
2
8
.3

1
2

1
2
1
.7

0
2

1
1
5
.8

6
5

7
7
.3

6
6
3

7
7
.1

1
1
2

7
6
.8

5
6
2

2
0
.9

6
9
3

(ppm)

0102030405060708090100110120130140150

1
3

5
.5

9
2

4
1

3
5

.4
9

7
7

1
3

5
.3

6
6

5

(ppm)

135.2135.6

 

3g 



S-33 

4
.0

0
0
0

2
.0

4
2
3

2
.0

5
1
3

5
.0

8
9
6

In
te

g
ra

l

7
.2

6
0
6

7
.2

4
3
0

7
.2

3
7
9

7
.2

3
4
2

7
.2

3
0
4

7
.2

2
5
3

7
.2

2
1
5

7
.2

1
7
8

6
.8

3
2
0

6
.8

2
6
9

6
.8

1
8
1

6
.8

1
4
3

6
.6

2
7
7

6
.6

2
4
0

6
.6

1
5
1

6
.6

1
1
4

3
.7

7
4
7

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5
7
.2

3
0
4

7
.2

2
5
3

7
.2

2
1
5

7
.2

1
7
8

6
.8

3
2
0

6
.8

2
6
9

6
.8

1
8
1

6
.8

1
4
3

6
.6

2
7
7

6
.6

2
4
0

6
.6

1
5
1

6
.6

1
1
4

(ppm)

6.66.76.86.97.07.17.27.3

3h 



S-34 

1
5
8
.4

0
3
5

1
4
6
.1

5
3
4

1
3
3
.8

7
4
2

1
3
1
.3

2
3
6

1
2
8
.7

3
6
6

1
2
3
.2

7
1
1

1
1
5
.6

7
7
7

1
1
4
.5

4
8
1

7
7
.2

5
8
6

7
7
.0

0
3
6

7
6
.7

4
8
5

5
5
.2

3
6
2

(ppm)

0102030405060708090100110120130140150160170

 

3h 



S-35 

0
.9

8
6

4

1
.0

1
2

6

1
.9

4
6

5

1
.9

8
5

2

2
.0

0
0

0

3
.9

8
0

0

In
te

g
ra

l
7

.3
7

0
3

7
.3

6
7

8
7

.3
5

5
2

7
.3

5
2

7
7

.2
6

0
7

7
.1

6
1

1
7

.1
5

8
5

7
.1

4
5

9
7

.1
4

3
4

7
.1

3
0

8
7

.1
2

8
3

7
.0

7
7

9
7

.0
7

4
1

7
.0

6
5

2
7

.0
6

1
5

6
.7

3
8

7
6

.7
3

6
2

6
.7

2
7

4
6

.7
2

2
3

6
.7

1
9

8
6

.7
1

2
2

6
.7

0
9

7
6

.6
9

7
1

6
.6

9
4

6
6

.5
9

3
7

6
.5

9
0

0
6

.5
8

1
1

6
.5

7
6

1

3
.7

5
8

4
3

.6
5

2
5

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.3

7
0

3
7

.3
6

7
8

7
.3

5
5

2
7

.3
5

2
7

7
.2

6
0

7

(ppm)

7.37.4

7
.1

4
3

4
7

.1
3

0
8

7
.1

2
8

3
7

.0
7

7
9

7
.0

7
4

1
7

.0
6

5
2

7
.0

6
1

5

6
.7

3
8

7
6

.7
3

6
2

6
.7

2
7

4
6

.7
2

2
3

6
.7

1
9

8
6

.7
1

2
2

6
.7

0
9

7
6

.6
9

7
1

6
.6

9
4

6
6

.5
9

3
7

6
.5

9
0

0
6

.5
8

1
1

6
.5

7
6

1

(ppm)

6.606.706.806.907.007.10

3i 



S-36 

1
4

7
.6

0
2

0
1

4
5

.3
7

9
3

1
3

5
.5

2
6

8

1
3

0
.7

8
2

7
1

2
9

.8
5

7
2

1
2

3
.5

0
9

9

1
1

8
.6

7
1

1
1

1
8

.0
4

4
4

1
1

5
.9

6
7

5
1

1
5

.3
3

3
5

7
7

.3
3

7
1

7
7

.0
8

2
1

7
6

.8
2

7
0

(ppm)

0102030405060708090100110120130140150
1

4
7

.6
0

2
0

1
4

5
.3

7
9

3

1
3

5
.5

2
6

8

1
3

0
.7

8
2

7
1

2
9

.8
5

7
2

1
2

3
.5

0
9

9

1
1

8
.6

7
1

1
1

1
8

.0
4

4
4

1
1

5
.9

6
7

5
1

1
5

.3
3

3
5

(ppm)

120125130135140145

 

3i 



S-37 

1
.4

6
6

8

1
.5

2
1

5

0
.9

7
7

9

4
.0

0
0

0

3
.9

9
6

1

7
.2

6
4

4
7

.2
6

0
6

7
.2

5
1

8
7

.2
4

6
8

7
.1

6
2

3
7

.1
4

5
9

6
.6

0
7

6
6

.5
8

9
9

6
.5

7
6

1

3
.7

6
3

4

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.2

6
4

4
7

.2
6

0
6

7
.2

5
1

8
7

.2
4

6
8

7
.1

6
2

3

7
.1

4
5

9

(ppm)

7.167.207.247.28

6
.6

0
7

6

6
.5

8
9

9

6
.5

7
6

1

(ppm)

6.60

 

3j 



S-38 

1
4
7
.0

5
7

4

1
3
3
.8

8
9

1

1
2
5
.7

4
1

8

1
1
5
.3

5
7

3

7
7
.2

5
8
9

7
7
.0

0
3
9

7
6
.7

4
8
8

(ppm)

0102030405060708090100110120130140150

 

3j 



S-39 

1
.0

0
0

0

1
.0

1
3

6

1
.9

7
2

0

1
.9

4
5

4

2
.0

1
2

1

1
.9

8
6

8

2
.0

3
0

7

8
.1

4
9

8

3
.0

1
1

8

In
te

g
ra

l
7

.1
1

0
2

7
.0

9
1

0
7

.0
8

6
1

6
.7

4
2

6
6

.7
3

8
7

6
.7

2
5

6
6

.7
2

0
6

6
.7

1
5

7
6

.7
1

1
9

6
.7

0
0

4
6

.6
9

6
0

6
.6

7
5

7
6

.6
7

1
3

4
.3

4
3

5

2
.7

7
2

3
2

.7
4

8
2

2
.7

2
3

5

1
.6

2
8

4
1

.6
0

5
4

1
.5

8
0

2
1

.5
5

5
0

1
.5

3
0

3
1

.3
9

7
7

1
.3

0
8

4
1

.2
9

8
6

1
.2

8
0

5
1

.2
7

3
9

0
.9

1
7

3
0

.9
0

4
1

0
.8

9
5

3
0

.8
7

2
3

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.5

7
.3

9
2

9
7

.3
7

2
0

7
.3

6
7

1
7

.2
6

0
3

7
.1

4
1

9
7

.1
3

7
0

7
.1

1
7

8
7

.1
1

5
1

7
.1

1
2

4
7

.1
1

0
2

7
.0

9
1

0
7

.0
8

6
1

6
.7

4
2

6
6

.7
3

8
7

6
.7

2
5

6
6

.7
2

0
6

6
.7

1
5

7
6

.7
1

1
9

6
.7

0
0

4
6

.6
9

6
0

6
.6

7
5

7
6

.6
7

1
3

(ppm)

6.76.86.97.07.17.27.37.4

2
.7

7
2

3
2

.7
4

8
2

2
.7

2
3

5

(ppm)

2.8

 

3k 



S-40 

1
4
8
.0

3
9
2

1
3
5
.5

2
2
4

1
2
9
.3

1
1
2

1
1
8
.3

7
2
6

1
1
8
.3

4
3
5

1
1
4
.7

5
7
9

7
7
.4

2
5
6

7
6
.9

9
6
5

7
6
.5

7
4
7

3
4
.8

0
5
8

3
1
.7

5
1
1

2
9
.6

5
6
5

2
9
.6

1
2
9

2
9
.1

4
0
1

2
9
.1

0
3
8

2
8
.6

6
7
4

2
2
.5

9
4
4

1
4
.0

4
1
4

(ppm)

102030405060708090100110120130140150

1
1
8
.3

7
2
6

1
1
8
.3

4
3
5

(ppm)

118.40

 

3k 



S-41 

1
.0

5
3

8

1
.0

0
0

0

1
.0

1
6

9

2
.0

1
6

9

4
.0

4
2

3

4
.0

0
8

7

4
.0

5
2

4

1
6

.3
6

2

6
.0

9
0

7

In
te

g
ra

l

7
.4

5
3

7
7

.4
4

8
7

7
.2

6
0

8
7

.1
8

0
1

7
.1

7
6

4
7

.1
6

3
8

7
.1

6
0

0

6
.6

5
4

4
6

.6
3

8
0

4
.3

5
6

1

2
.7

7
0

1
2

.7
5

5
0

2
.7

4
6

2
2

.7
3

9
9

2
.7

3
1

0
2

.7
1

7
2

1
.5

6
8

6
1

.5
5

3
5

1
.5

3
8

4
1

.3
7

0
7

1
.3

0
1

4
1

.2
8

7
5

0
.8

8
6

6
0

.8
7

2
7

0
.8

5
8

8

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

3l 



S-42 

1
4
7
.2

5
2
2

1
3
9
.3

3
0
8

1
3
3
.7

7
7
8

1
2
3
.6

4
1
1

1
1
8
.9

7
7
2

1
1
5
.1

8
0
5

7
7
.2

9
3
4

7
7
.0

3
8
4

7
6
.7

8
3
3

3
6
.4

9
1
4

3
4
.8

5
9
0

3
1
.8

2
0
2

2
9
.6

2
6
7

2
9
.4

0
8
1

2
9
.2

0
4
0

2
9
.1

8
2
2

2
9
.1

6
0
3

2
8
.7

0
1
2

2
2
.6

5
2
7

1
4
.0

9
7
3

(ppm)

0102030405060708090100110120130140150

2
9
.6

2
6
7

2
9
.4

0
8
1

2
9
.2

0
4
0

2
9
.1

8
2
2

2
9
.1

6
0
3

2
8
.7

0
1
2

(ppm)

28.829.229.6

 

3l 



S-43 

1
.0

0
0

0

1
.0

0
4

0

1
.0

0
3

4

2
.0

0
6

0

2
.0

4
6

8

2
.0

3
1

1

2
.0

4
4

5

8
.1

7
5

6

3
.0

6
5

3

In
te

g
ra

l

7
.2

6
0

6
7

.2
4

5
5

7
.2

2
9

1

6
.7

5
3

8
6

.7
4

8
8

6
.5

2
5

6
6

.5
2

0
6

6
.5

0
9

3
6

.5
0

4
2

3
.7

6
9

7

2
.8

0
5

2
2

.7
9

1
4

2
.7

7
6

2

1
.5

9
1

2
1

.5
7

7
3

1
.5

6
2

2
1

.5
4

7
0

1
.5

3
1

9
1

.4
0

3
3

1
.3

8
9

4
1

.3
7

4
3

1
.3

0
1

2
1

.2
8

7
3

1
.2

7
6

0
1

.2
6

9
7

1
.2

5
3

3
0

.8
8

6
4

0
.8

7
2

5
0

.8
5

8
7

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.5

3m 



S-44 

1
4
6
.6

9
2
9

1
3
7
.6

7
8
4

1
3
4
.6

5
4
1

1
2
2
.3

2
3
9

1
1
6
.0

8
5
9

1
1
3
.9

3
6
2

7
7
.2

5
8
8

7
7
.0

0
3
8

7
6
.7

4
8
7

3
4
.8

9
7
3

3
1
.7

7
1
0

2
9
.1

4
0
3

2
9
.0

8
2
0

2
8
.7

3
2
2

2
2
.6

1
0
8

1
4
.0

6
2
7

(ppm)

0102030405060708090100110120130140150

2
9
.1

4
0
3

2
9
.0

8
2
0

2
8
.7

3
2
2

(ppm)

28.829.2

 

3m 



S-45 

1
.0

0
0
0

2
.0

4
4
6

1
.8

3
3
5

2
.0

3
3
7

2
.0

5
8
7

2
.0

6
6
0

8
.1

5
4
0

3
.1

1
0
7

In
te

g
ra

l

7
.9

6
1
6

7
.9

5
7
8

7
.9

5
2
8

7
.9

4
9
0

7
.2

6
0
6

6
.8

7
3
6

6
.8

6
4
8

6
.8

5
9
7

6
.8

4
8
4

3
.8

6
4
2

3
.2

2
5
0

3
.2

0
9
9

3
.1

9
4
8

1
.7

1
6
0

1
.7

0
0
8

1
.6

8
5
7

1
.6

7
1
8

1
.6

5
6
7

1
.4

4
7
4

1
.4

3
2
3

1
.4

1
7
2

1
.4

0
2
0

1
.3

2
0
1

1
.3

0
5
0

1
.2

9
1
1

1
.2

8
7
3

1
.2

7
9
7

1
.2

6
7
1

1
.2

5
5
8

0
.8

8
7
7

0
.8

8
0
1

0
.8

7
3
8

0
.8

6
5
0

0
.8

5
9
9

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

3n 



S-46 

1
4
3
.6

8
1
4

1
4
0
.6

3
5
2

1
3
9
.7

3
1
6

1
2
0
.4

3
4
7

1
2
0
.1

2
1
3

7
7
.2

7
8
8

7
7
.0

2
3
8

7
6
.7

6
8
7

3
1
.8

2
0
2

3
0
.7

7
8
1

2
9
.6

5
5
9

2
9
.1

8
2
2

2
9
.1

6
7
6

2
8
.9

3
4
4

2
2
.6

5
2
7

1
4
.0

9
7
3

(ppm)

0102030405060708090100110120130140150

1
2
0
.4

3
4
7

1
2
0
.1

2
1
3

(ppm)

120

2
9
.6

5
5
9

2
9
.1

8
2
2

2
9
.1

6
7
6

2
8
.9

3
4
4

(ppm)

29.029.229.429.6

 

3n 



S-47 

1
.0

0
0
0

1
.0

3
1
8

1
.0

4
3
5

1
.7

4
3
6

2
.0

4
5
6

2
.1

7
6
7

2
.0

4
8
6

8
.2

3
3
1

3
.0

9
1
5

In
te

g
ra

l

8
.0

0
0
7

7
.9

9
4
4

7
.2

6
0
6

7
.0

4
3
8

7
.0

2
7
4

6
.8

9
8
8

6
.8

9
3
7

6
.8

8
2
4

6
.8

7
6
1

3
.9

3
9
9

3
.0

7
7
5

3
.0

6
3
7

3
.0

4
8
5

1
.6

6
5
5

1
.6

5
0
4

1
.6

3
5
2

1
.6

2
0
1

1
.4

2
6
0

1
.4

1
2
1

1
.3

9
7
0

1
.3

0
3
7

1
.2

8
8
5

1
.2

7
8
5

1
.2

7
2
2

1
.2

6
5
9

1
.2

5
4
5

0
.8

8
6
4

0
.8

8
0
1

0
.8

7
2
5

0
.8

6
6
2

0
.8

5
8
6

0
.8

5
2
3

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.0

1
.8

2
41

 

3o 



S-48 

1
4
7
.2

6
1
2

1
3
9
.6

8
2
3

1
3
7
.1

3
9
0

1
2
3
.7

0
1
1

1
2
3
.3

0
0
3

7
7
.2

5
8
7

7
7
.0

0
3
6

7
6
.7

4
8
5

3
1
.8

1
4
6

3
1
.6

8
3
4

2
9
.5

5
5
5

2
9
.1

6
9
3

2
9
.0

0
9
0

2
8
.9

2
1
5

2
2
.6

3
9
8

1
4
.0

8
4
4

(ppm)

0102030405060708090100110120130140150

1
2
3
.7

0
1
1

1
2
3
.3

0
0
3

(ppm)

124

3
1
.8

1
4
6

3
1
.6

8
3
4

2
9
.5

5
5
5

2
9
.1

6
9
3

2
9
.0

0
9
0

2
8
.9

2
1
5

(ppm)

29303132

 

3o 



S-49 

1
.0

0
0

0

1
.0

2
2

9

2
.0

3
4

3

1
.0

1
5

4

2
.0

4
9

2

3
.0

9
4

7

In
te

g
ra

l
7

.8
3

1
7

7
.7

9
0

1
7

.7
7

6
3

7
.7

3
5

9
7

.7
2

2
1

7
.4

5
2

3
7

.4
4

8
5

7
.4

2
2

0
7

.3
7

6
6

7
.3

7
4

1
7

.3
6

6
5

7
.3

6
2

7
7

.3
6

0
2

7
.3

5
5

2
7

.3
5

1
4

7
.3

4
7

6
7

.3
4

5
1

7
.3

3
6

3
7

.3
3

2
5

7
.3

1
9

9
7

.3
1

7
4

7
.3

0
4

8
7

.3
0

2
2

7
.2

6
0

6

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

1
.0

0
0

0

1
.0

2
2

9

2
.0

3
4

3

1
.0

1
5

4

2
.0

4
9

2

3
.0

9
4

7

7
.8

4
6

9
7

.8
3

1
7

7
.7

9
0

1
7

.7
7

6
3

7
.7

3
5

9
7

.7
2

2
1

7
.4

5
2

3
7

.4
4

8
5

7
.4

2
2

0
7

.3
7

6
6

7
.3

7
4

1
7

.3
6

6
5

7
.3

6
2

7
7

.3
6

0
2

7
.3

5
5

2
7

.3
5

1
4

7
.3

4
7

6
7

.3
4

5
1

7
.3

3
6

3
7

.3
3

2
5

7
.3

1
9

9
7

.3
1

7
4

7
.3

0
4

8
7

.3
0

2
2

7
.2

6
0

6

(ppm)

7.257.307.357.407.457.507.557.607.657.707.757.807.85

 

3p 



S-50 

1
4

4
.2

7
8

9
1

4
0

.7
2

2
7

1
3

9
.5

4
2

1

1
3

4
.3

3
9

0
1

2
8

.9
6

0
9

1
2

8
.2

7
5

9
1

2
6

.5
2

6
9

1
2

4
.5

2
2

9
1

2
4

.3
2

6
1

1
2

3
.5

7
5

5
1

2
2

.2
8

5
6

1
1

9
.4

7
2

7

7
7

.2
7

8
8

7
7

.0
2

3
8

7
6

.7
6

8
7

(ppm)

0102030405060708090100110120130140150

1
2

6
.5

2
6

9

1
2

4
.5

2
2

9
1

2
4

.3
2

6
1

1
2

3
.5

7
5

5

1
2

2
.2

8
5

6

(ppm)

124126

 

3p 



S-51 

1
.0

0
0

0

0
.9

8
7

9

1
.9

4
6

6

2
.0

2
5

8

0
.9

6
0

7

0
.9

6
3

9

In
te

g
ra

l

7
.8

1
4

1
7

.7
9

7
7

7
.7

6
2

4
7

.7
4

7
3

7
.4

8
2

5
7

.3
6

7
8

7
.3

6
5

3
7

.3
5

2
7

7
.3

3
7

5
7

.3
3

5
0

7
.3

2
3

7
7

.3
2

1
1

7
.3

0
7

3
7

.2
9

3
4

7
.2

9
0

9
7

.2
6

0
6

6
.6

5
3

0
6

.6
4

6
7

6
.5

0
1

7
6

.4
9

7
9

6
.4

9
5

4
6

.4
9

1
6

1
.5

6
4

7

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.8

1
4

1
7

.7
9

7
7

7
.7

6
2

4
7

.7
4

7
3

7
.4

8
2

5
7

.3
6

7
8

7
.3

6
5

3
7

.3
5

2
7

7
.3

3
7

5
7

.3
3

5
0

7
.3

2
3

7
7

.3
2

1
1

7
.3

0
7

3
7

.2
9

3
4

7
.2

9
0

9
7

.2
6

0
6

6
.6

5
3

0
6

.6
4

6
7

6
.5

0
1

7
6

.4
9

7
9

6
.4

9
5

4
6

.4
9

1
6

(ppm)

6.406.506.606.706.806.907.007.107.207.307.407.507.607.707.80

3q 



S-52 

1
4
9
.2

9
9
9

1
4
2
.5

4
4
5

1
4
0
.2

1
2
6

1
3
8
.9

0
0
9

1
3
3
.3

0
4
2

1
2
4
.6

4
6
8

1
2
4
.4

4
2
7

1
2
3
.5

9
7
4

1
2
2
.2

3
4
6

1
1
8
.5

6
9
1

1
1
1
.9

0
1
1

1
0
7
.0

4
7
8

7
7
.2

8
6
1

7
7
.0

3
1
1

7
6
.7

7
6
0

(ppm)

0102030405060708090100110120130140150

1
2
4
.6

4
6
8

1
2
4
.4

4
2
7

1
2
3
.5

9
7
4

1
2
2
.2

3
4
6

1
1
8
.5

6
9
1

(ppm)

116118120122124126

 

3q 



S-53 

1
.0

0
0
0

1
.0

0
6
1

2
.0

1
4
2

1
.0

1
5
6

2
.0

3
8
9

2
.0

2
4
4

9
.0

6
4
9

In
te

g
ra

l

7
.8

2
9
2

7
.8

1
4
1

7
.7

7
2
5

7
.7

5
7
4

7
.6

6
9
1

7
.6

5
1
5

7
.5

1
4
1

7
.4

6
4
9

7
.4

6
1
1

7
.4

5
2
3

7
.4

4
8
5

7
.3

4
5
1

7
.3

3
1
3

7
.3

2
8
7

7
.3

1
4
9

7
.3

1
2
3

7
.2

9
8
5

7
.2

6
0
7

1
.3

6
5
5

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.8

2
9
2

7
.8

1
4
1

7
.7

7
2
5

7
.7

5
7
4

7
.6

6
9
1

7
.6

5
1
5

7
.5

1
4
1

7
.4

6
4
9

7
.4

6
1
1

7
.4

5
2
3

7
.4

4
8
5

7
.3

4
5
1

7
.3

3
1
3

7
.3

2
8
7

7
.3

1
4
9

7
.3

1
2
3

7
.2

9
8
5

7
.2

6
0
7

(ppm)

7.257.307.357.407.457.507.557.607.657.707.757.807.85

3r 



S-54 

1
5
1
.5

2
4
3

1
4
4
.3

3
8
9

1
4
0
.8

0
4
5

1
3
9
.4

1
9
9

1
3
1
.5

2
7
7

1
2
6
.2

3
7
1

1
2
5
.8

9
4
6

1
2
4
.4

2
9
8

1
2
4
.1

0
9
2

1
2
3
.4

2
4
2

1
2
2
.2

3
6
3

1
1
8
.9

2
0
6

7
7
.2

5
8
7

7
7
.0

0
3
6

7
6
.7

5
5
8

3
4
.7

0
0
4

3
1
.2

6
8
1

(ppm)

0102030405060708090100110120130140150

1
2
6
.2

3
7
1

1
2
5
.8

9
4
6

(ppm)

126.0

 

3r 



S-55 

1
.0

0
0

0

1
.0

2
9

3

2
.0

1
5

7

1
.0

1
8

9

2
.0

6
1

9

1
.9

5
8

7

In
te

g
ra

l
7

.8
3

8
1

7
.8

2
2

9
7

.7
8

2
6

7
.7

6
7

5
7

.6
4

7
7

7
.6

4
3

9
7

.6
3

5
1

7
.6

3
1

3
7

.5
2

1
6

7
.4

0
5

6
7

.4
0

1
8

7
.3

9
3

0
7

.3
8

9
2

7
.3

8
2

9
7

.3
6

7
8

7
.3

6
5

3
7

.3
5

2
7

7
.3

5
0

2
7

.3
4

5
1

7
.3

4
2

6
7

.3
3

0
0

7
.3

2
7

5
7

.2
6

0
6

(ppm)

0.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.8

3
8

1
7

.8
2

2
9

7
.7

8
2

6
7

.7
6

7
5

7
.6

4
7

7
7

.6
4

3
9

7
.6

3
5

1
7

.6
3

1
3

7
.5

2
1

6

7
.4

0
5

6
7

.4
0

1
8

7
.3

9
3

0
7

.3
8

9
2

7
.3

8
2

9
7

.3
6

7
8

7
.3

6
5

3
7

.3
5

2
7

7
.3

5
0

2
7

.3
4

5
1

7
.3

4
2

6
7

.3
3

0
0

7
.3

2
7

5
7

.2
6

0
6

(ppm)

7.207.307.407.507.607.707.80

3s 



S-56 

1
4
2
.8

1
6
2

1
4
0
.5

6
4
4

1
3
9
.4

8
5
9

1
3
4
.0

7
8
6

1
3
2
.8

2
5
2

1
2
9
.1

0
8
7

1
2
7
.6

2
9
3

1
2
4
.6

5
6
1

1
2
4
.5

6
8
6

1
2
3
.6

4
3
1

1
2
2
.2

7
3
1

1
1
9
.8

6
8
3

7
7
.2

5
1
7

7
7
.0

0
3
9

7
6
.7

4
8
9

(ppm)

0102030405060708090100110120130140150

1
2
4
.6

5
6
1

1
2
4
.5

6
8
6

1
2
3
.6

4
3
1

1
2
2
.2

7
3
1

1
1
9
.8

6
8
3

(ppm)

119.0120.0121.0122.0123.0124.0125.0

 

3s 



S-57 

1
.0

0
0

0

0
.9

4
5

3

2
.0

0
0

5

0
.9

4
8

8

2
.0

3
3

7

1
.9

5
9

8

In
te

g
ra

l
7

.8
3

3
6

7
.8

1
8

5
7

.7
7

6
9

7
.7

6
3

0
7

.6
9

5
0

7
.6

8
3

6
7

.6
8

1
1

7
.6

7
7

3
7

.6
7

1
0

7
.6

6
6

0

7
.4

7
3

1
7

.3
5

8
3

7
.3

4
4

5
7

.3
4

1
9

7
.3

3
3

1
7

.3
2

9
3

7
.3

1
6

7
7

.3
1

4
2

7
.2

6
0

0
7

.1
4

1
5

7
.1

2
3

8
7

.1
0

7
5

1
.5

5
7

7

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.8

3
3

6
7

.8
1

8
5

7
.7

7
6

9
7

.7
6

3
0

7
.6

9
5

0
7

.6
8

3
6

7
.6

8
1

1
7

.6
7

7
3

7
.6

7
1

0
7

.6
6

6
0

7
.4

7
3

1

7
.3

5
8

3
7

.3
4

4
5

7
.3

4
1

9
7

.3
3

3
1

7
.3

2
9

3
7

.3
1

6
7

7
.3

1
4

2
7

.2
6

0
0

7
.1

4
1

5
7

.1
2

3
8

7
.1

0
7

5

(ppm)

7.17.27.37.47.57.67.77.8

p )p )

3t 



S-58 

1
4
3
.0

6
3
6

1
4
0
.6

5
8
8

1
3
9
.4

3
4
5

1
3
0
.5

6
5
8

1
2
8
.2

1
1
9

1
2
4
.6

0
4
7

1
2
4
.3

7
1
5

1
2
3
.5

4
0
7

1
2
2
.2

4
3
6

1
1
9
.4

3
0
7

1
1
6
.0

3
4
7

1
1
5
.8

5
9
8

7
7
.2

5
1
3

7
7
.0

0
3
6

7
6
.7

4
8
5

(ppm)

0102030405060708090100110120130140150

1
4
3
.0

6
3
6

1
4
0
.6

5
8
8

1
3
9
.4

3
4
5

1
3
0
.5

6
5
8

1
2
8
.2

1
1
9

1
2
4
.6

0
4
7

1
2
4
.3

7
1
5

1
2
3
.5

4
0
7

1
2
2
.2

4
3
6

1
1
9
.4

3
0
7

1
1
6
.0

3
4
7

1
1
5
.8

5
9
8

(ppm)

116118120122124126128130132134136138140142

 

3t 



S-59 

1
.0

0
0

0

1
.0

2
8

3

2
.0

2
4

5

0
.9

9
9

4

2
.0

7
8

4

2
.0

7
4

3

3
.0

2
4

5

In
te

g
ra

l

7
.8

3
1

7
7

.8
1

5
3

7
.7

6
8

7
7

.7
5

3
6

7
.6

2
6

2
7

.6
0

9
8

7
.5

0
6

5
7

.3
6

2
7

7
.3

6
0

2
7

.3
4

8
9

7
.3

4
6

3
7

.3
3

2
5

7
.3

3
0

0
7

.3
1

6
1

7
.3

1
3

6
7

.2
9

9
7

7
.2

8
5

8
7

.2
8

3
3

7
.2

6
0

6
7

.2
4

6
8

7
.2

3
1

6

2
.3

9
9

2

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.8

3
1

7
7

.8
1

5
3

7
.7

6
8

7
7

.7
5

3
6

7
.6

2
6

2
7

.6
0

9
8

7
.5

0
6

5

7
.3

6
2

7
7

.3
6

0
2

7
.3

4
8

9
7

.3
4

6
3

7
.3

3
2

5
7

.3
3

0
0

7
.3

1
6

1
7

.3
1

3
6

7
.2

9
9

7
7

.2
8

5
8

7
.2

8
3

3
7

.2
6

0
6

7
.2

4
6

8
7

.2
3

1
6

(ppm)

7.207.307.407.507.607.707.80

 

3u 



S-60 

1
4

4
.3

9
7

3
1

4
0

.7
7

5
5

1
3

9
.3

2
5

3
1

3
8

.2
7

5
9

1
3

1
.5

0
5

9
1

2
9

.6
1

8
5

1
2

6
.3

6
8

3
1

2
4

.4
3

7
2

1
2

4
.1

0
1

9
1

2
3

.3
8

7
8

1
2

2
.2

1
4

5
1

1
8

.8
3

3
2

7
7

.2
5

1
4

7
7

.0
0

3
7

7
6

.7
4

8
6

2
1

.2
3

3
4

(ppm)

0102030405060708090100110120130140150

 

3u 



S-61 

1
.0

0
0
6

1
.0

6
6
7

2
.0

7
0
6

1
.0

0
0
0

1
.0

4
5
5

1
.0

1
7
7

2
.0

1
7
7

3
.1

0
0
4

In
te

g
ra

l
7

.8
1
8
5

7
.8

0
2
1

7
.7

5
1
7

7
.7

3
6
6

7
.6

5
4
6

7
.6

4
4
5

7
.4

2
8
9

7
.3

5
4
6

7
.3

5
2
0

7
.3

3
8
2

7
.3

2
4
3

7
.3

2
1
8

7
.3

0
2
9

7
.3

0
0
3

7
.2

8
6
5

7
.2

8
4
0

7
.2

7
2
6

7
.2

7
0
1

7
.2

6
0
0

6
.9

7
7
6

6
.9

7
1
3

6
.9

6
7
5

6
.9

5
7
4

6
.9

5
3
6

6
.9

4
7
3

3
.8

5
9
8

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

7
.8

1
8
5

7
.8

0
2
1

7
.7

5
1
7

7
.7

3
6
6

7
.6

5
4
6

7
.6

4
4
5

7
.4

2
8
9

7
.3

5
4
6

7
.3

5
2
0

7
.3

3
8
2

7
.3

2
4
3

7
.3

2
1
8

7
.3

0
2
9

7
.3

0
0
3

7
.2

8
6
5

7
.2

8
4
0

7
.2

7
2
6

7
.2

7
0
1

7
.2

6
0
0

6
.9

7
7
6

6
.9

7
1
3

6
.9

6
7
5

6
.9

5
7
4

6
.9

5
3
6

6
.9

4
7
3

(ppm)

6.97.07.17.27.37.47.57.67.77.87.9

 

3v 



S-62 

1
5

9
.8

3
7

5

1
4

4
.1

6
9

6
1

4
0

.9
1

2
2

1
3

9
.2

1
4

2

1
2

7
.7

7
3

0
1

2
7

.0
9

5
3

1
2

4
.4

5
7

3
1

2
3

.9
5

4
5

1
2

3
.2

6
2

2
1

2
2

.1
8

3
6

1
1

8
.2

2
6

6

1
1

4
.3

8
6

1

7
7

.2
7

8
8

7
7

.0
2

3
8

7
6

.7
6

8
7

5
5

.4
0

9
4

(ppm)

0102030405060708090100110120130140150160170

 

3v 



S-63 

1
.0

0
0

0

1
.0

0
2

0

2
.0

1
4

8

4
.0

1
4

0

1
.0

0
9

4

In
te

g
ra

l
8

.5
1

6
3

8
.5

1
3

8
8

.0
2

0
9

8
.0

1
7

1
8

.0
0

4
5

8
.0

0
0

7
7

.7
3

8
4

7
.7

3
5

9
7

.7
3

2
1

7
.7

2
0

8
7

.4
6

3
6

7
.4

5
7

3
7

.4
4

9
7

7
.4

3
7

1
7

.4
3

3
4

7
.3

9
5

5
7

.3
9

3
0

7
.3

9
0

5
7

.3
7

7
9

7
.2

9
5

9
7

.2
8

7
1

7
.2

7
9

5
7

.2
7

0
7

7
.2

6
0

6

5
.0

7
9

6

4
.5

1
1

0

2
.1

0
5

5

1
.6

7
5

6

1
.2

5
8

3

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

8
.5

2
2

6
8

.5
1

6
3

8
.5

1
3

8

8
.0

2
0

9
8

.0
1

7
1

8
.0

0
4

5
8

.0
0

0
7

7
.7

3
8

4
7

.7
3

5
9

7
.7

3
2

1
7

.7
2

0
8

7
.4

6
3

6
7

.4
5

7
3

7
.4

4
9

7
7

.4
3

7
1

7
.4

3
3

4
7

.3
9

5
5

7
.3

9
3

0
7

.3
9

0
5

7
.3

7
7

9
7

.2
9

5
9

7
.2

8
7

1
7

.2
7

9
5

7
.2

7
0

7
7

.2
6

0
6

(ppm)

7.307.407.507.607.707.807.908.008.108.208.308.408.50

3w 



S-64 

1
6

1
.5

8
6

4

1
4

6
.3

4
8

5
1

4
4

.5
9

9
6

1
3

4
.2

5
8

8
1

3
3

.9
0

1
7

1
3

0
.6

5
8

8
1

2
9

.0
7

7
5

1
2

8
.8

4
4

3
1

2
6

.6
1

4
3

1
1

9
.8

2
2

5
1

1
6

.6
7

4
4

7
7

.2
8

6
1

7
7

.0
3

1
1

7
6

.7
7

6
0

(ppm)

0102030405060708090100110120130140150160170
1

3
4

.2
5

8
8

1
3

3
.9

0
1

7

1
3

0
.6

5
8

8

1
2

9
.0

7
7

5
1

2
8

.8
4

4
3

(ppm)

130132134

 

3w 



S-65 

3
.0

4
1

6

1
.0

0
0

0

4
.0

0
4

6

1
.0

4
5

9

In
te

g
ra

l
8
.0

9
7
4

8
.0

9
6

3
8

.0
8

7
5

8
.0

7
4

9
8

.0
7

2
7

8
.0

7
1

1
7

.9
2

7
6

7
.9

0
2

9
7

.9
0

1
3

7
.5

2
8

7
7

.5
2

4
3

7
.5

2
1

6
7

.5
1

2
8

7
.5

0
1

3
7

.4
9

1
5

7
.4

7
7

8
7

.4
7

3
9

7
.4

1
9

7
7

.4
1

5
9

7
.3

9
2

9
7

.2
6

0
3

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

8
.0

9
6

3
8

.0
8

7
5

8
.0

7
4

9
8

.0
7

2
7

8
.0

7
1

1

7
.9

2
7

6
7

.9
0

2
9

7
.9

0
1

3

7
.5

2
8

7
7

.5
2

4
3

7
.5

2
1

6
7

.5
1

2
8

7
.5

0
1

3
7

.4
9

1
5

7
.4

7
7

8
7

.4
7

3
9

7
.4

1
9

7
7

.4
1

5
9

7
.3

9
2

9
7

.2
6

0
3

(ppm)

7.37.47.57.67.77.87.98.08.1

3x 



S-66 

1
6

8
.0

9
0

8

1
5

4
.1

4
8

4

1
3

5
.0

6
4

1
1

3
3

.6
3

1
3

1
3

0
.9

6
2

1
1

2
9

.0
1

2
9

1
2

7
.5

5
8

3
1

2
6

.3
0

7
4

1
2

5
.1

8
0

0
1

2
3

.2
3

8
1

1
2

1
.6

0
9

0

7
7

.4
2

5
5

7
6

.9
9

6
4

7
6

.5
7

4
6

(ppm)

0102030405060708090100110120130140150160170

 

3x 



S-67 

1
.0

0
0
0

1
.9

7
3
5

0
.9

7
1
8

1
.0

0
0
3

1
.0

0
0
9

1
.9

9
5
3

3
.0

0
6
1

In
te

g
ra

l

8
.0

7
8
9

8
.0

6
3
7

7
.9

9
9
4

7
.9

8
3
1

7
.8

9
4
8

7
.8

7
8
4

7
.5

0
1
5

7
.4

8
5
1

7
.4

7
1
2

7
.3

8
5
5

7
.3

7
0
3

7
.3

5
5
2

7
.3

0
4
8

7
.2

8
8
4

7
.2

6
0
7

2
.4

2
4
5

(ppm)

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5

8
.0

7
8
9

8
.0

6
3
7

7
.9

9
9
4

7
.9

8
3
1

7
.8

9
4
8

7
.8

7
8
4

(ppm)

7.887.927.968.008.048.08

7
.5

0
1
5

7
.4

8
5
1

7
.4

7
1
2

7
.3

8
5
5

7
.3

7
0
3

7
.3

5
5
2

7
.3

0
4
8

7
.2

8
8
4

7
.2

6
0
7

(ppm)

7.307.407.50

 

3y 



S-68 

1
6
8
.2

5
4
4

1
5
4
.2

0
4
3

1
4
1
.4

2
9
6

1
3
4
.9

8
0
2

1
3
0
.9

9
4
1

1
2
9
.7

3
3
3

1
2
7
.5

1
0
7

1
2
6
.2

5
7
3

1
2
5
.0

1
1
1

1
2
3
.0

7
2
7

1
2
1
.5

8
6
1

7
7
.3

2
2
6

7
7
.0

6
7
5

7
6
.8

1
2
4

2
1
.5

3
0
4

(ppm)

0102030405060708090100110120130140150160170

 

3y 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


